ECE3031 Assignment #5 - Due on Mon. Mar. 26, 2018
Q1: 
A machine shop is to produce manual staplers and electrical staplers, using Machine A and Machine B. Machine A is available for 180 hours per month, and Machine B is available for 160 hours per month. A manual stapler will need 2 hours of Machine A and 1 hour of Machine B to complete, and will make a profit of $4/unit. An electrical stapler will need 1 hour of Machine A and 2 hours of Machine B to complete, and will make profit of $6/unit. Use the concept of linear programming to maximize the profit per month following the following steps:
(a). Determine the constraints;

(b). Determine the feasible region;

(c). Formulate the profit function and draw isoprofit lines;

(d). Identify the isoprofit line which yields the maximum profit and find the maximum profit value. 
(The problem is summarized in the following table, and you may draw your lines on the chart below.)

	
	Machine time needed for each unit
	Profit per unit

	
	Machine A
	Machine B
	

	Manual stapler (x)
	2
	1
	$4

	Electric stapler (y)
	1
	2
	$6

	Machine hours available
	180/month
	160/month
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Q2: 

Answer briefly the following questions (using bullets or simple statements as short answers):
(a). (Deleted)
(b). What types of prototypes you can use for your power supply design?
_1382164800.unknown

